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o MNYOIEBE Y 242
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8,000& = 4¥ » 133¢ 4,256
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o LMY X AR
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o 33 MEESHEH Ik
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o MY JINEE 240 HEHl X
500,000& = 12& 6,000
o MegsdgAd JIHEH =X
500,000& = 63l 3,000
o EZUCMEH FFR2H cHEH4EE It
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202 O4dl 18,960 18,960 0
01 = LH YI 18,960 18,960 0
o MEIl B4 U CHED xX
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206 M= Hl 26,600 26,600 0
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o Mz 2% =& 22l 2,000,000& = 24 4,000
o Mz @& =& A
150,000 * 20004 * 23 6,000
o SAFAMSE 2 BN M
110,000& * 1074 1,100
o OHMEH SAHE XEFEE EE2S HMA 5,000
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o AHIAAMZAIE 2SHI
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307 21201 A 83,000 75,600 7,400
02 B AAHEX 83,000 75,600 7,400
o AN SR BIXI0OHY
2,000,000 = 23l 4,000
o AZAMAL AM2E N3 50,000
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- A=Y 12,000& = 1008 = 1000H & 12,000
o =M ¥ ZHUE FIotHl X&
2,000,000& = 204 = 13 4,000
o 2SI 28 XN
4,000,000& = 13l 4,000
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i 19,460
02 It EAIL EZ (01T S) 27,800 15,082 12,718
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301 LEHZ 4,000 4,000 0
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03 RIHAZ 22+ 1,628,736 1,596,575 32,161
o =25 1,814,000& » 3R2F 128 696,576
o &2 359,616
- Jlg==¢ 68,350,230 = 50% * 43| 136,701
- MEcay 68,350,230 * 50% * 53| 170,876
-d2==¢ 813,100& = 32H =« 23| 52,039
o FAlg 98,160
- SR 90,000& = 328 » 123 34,560
- APEdsE 70,000& = 3298 » 12& 26,880
- &g 36,720
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